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A B
fc(N/mm2) 30
b(mm) 70
h(mm) 100
d(mm) 80
L(mm) 600
a(mm) 250 200
L-2a(mm) 100 200
D(mm) D x2 D x2
D x2 D x2
375 375
N/m ) 416 410
D(mm) 4 4
fwy(N/m ) 375 375
s(mm) 100 120
0.0113 0.0255
@ 0.157 0.348
P 0.00359 0.00299
0.0449 0.0374
Pw
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A

W =b-h?/6=70x80%/6=7.467 x 10" mm°
f, =0.42x f *"¥ = 4.055N / mm?
M, =Wx f, =0.303kN - m
5 _2M _2x0303kN-m

A = 2.42kN
a 0.25m

P, =2xV, =10.9kN
V.=p4-B, B, f.-b-d=543kN

f.=02x f' “¥=06214
B, =@/d)"? =1.88-1.50
B, =(100x p)*'? =1.041
p=A, /(bxd)=0.0113
By=1 O

k=-np++((np)* +2np) =0.437 (n=15 )
X=kx d =0.437x80=35.0mm
M, =A - f, -(d—x/3)=180kN -m

f
M, = pf,, -(1—17'0—5‘;.]-&3& =1.91kN - m

a=250mm P, =15.3kN
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)

V, =V, +V,
V, = B3, B, T..bd = 5.43kN

n "vc

A,z
V=

A, =D4x2 =251mm’
z=d/1.15=69.6
-V, = 6.56kN
~V, =V, +V, =5.43+6.56 =12.0kN
P, =2V, = 24.0kN

W =b-h?/6=70x80%/6=7.467 x 10" mm°
f, =0.42x f *'"¥ = 4.055N / mm?
M, =Wx f, =0.303kN - m
5 _2M _2x0303kN-m

. =3.03kn
a 0.20m

P, =2xV,=1.085x10kN m
V.=p4-B, B, fe-b-d=7.13kN

f.=02xf' "9 =06214
B, =@Q/d)"* =188 5150
B, =(100x p)*'? =1.36
p= A, /(bxd)=0.0255
By=1 O
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k=-np++/((np)® +2np) =0572 (n=15

X =kxd =458mm
MyzAS-fw-(d—x/3)=3.8OkN-m

f
M, = pfg, -(1—17[)—5‘/1“)&3& =3.70kN -m

P ="
a
a=200mm

P, =37.0kN

V, =V, +V,
V, = B,8,B, f.od = 7.13kN
A,z
V=T

A,=D4x2 =251mm’
S =120mm
z=d/1.15=69.6mm
.V, = 5.46kN
=V, =V, +V, =7.13+5.46 = 12.6kN
P, =2V, = 25.2kN

)



A B A B
1.91kN m Mu 3.70kN m (My) Pu=15.3kN Pu=37.0kN
12.0kN (Vy) 12.6kN  (Vy) Ps=24.0kN Ps=25.2kN

- - Pmax=15.3kN Pmax=25.2kN
A B

M 0.303kN m 0.303kN m

Pcr 2.42kN 3.03kN

V 5.43kN 7.13kN

M 1.80kN m 3.80kN m n=15

Py 14.4kN 38.0kN

Mu | 1.91kN m 3.70kN m

Pu 15.3kN 37.0kN

Vs | 11.9kN 12.6kN

Ps 23.8kN 25.2kN
15.3kN 25.2kN
5.00kN 7.50kN
13.9kN -
15.5kN 26.0kN
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f/ =30N/mm* = E = 28kN /mm*

3 3
| - Ph" _ 70x100° _ o oq 108 mm?
12 12
A B
a 250mm 200mm
A B
30.8kN/mm 37.7kN/mm
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